


Exam 1 review

Professor michalak’s practice exam






















































































































A steel hoop snugly encircles the Earth’s equator at 20.0 C.  What would be the gap created at 
25.0 C?











A cylinder 1.00 m tall with inside diameter 0.120 m holds propane gas (44.1 g/mol).  It is initially 
filled with gas until the gauge pressure is 1.30e6 Pa at 22.0 C.  The temperature remains 
constant as it is partially emptied, until P_gauge = 3.4e5 Pa.  How much propane mass was 
used?



